Havis-Shields

EQUIPMENT CORPORATION

INSTALL INSTRUCTIONS

C-3330-800 MW-800 FIXED MONITOR MOUNT
1996-2006 FORD CROWN VICTORIA

TOOLS REQUIRED:

Power Drill

Drill Bit Set — 1/8” through 3/8”

3/8” and % Drive Standard And Metric
Socket Sets W/6” Extensions

3/8” and %4 Ratchets

HARDWARE:
OTY DESCRIPTION

6

R LY \SAF N N

#8 X 1 ¥4 Black sheet metal screws
10-32 X 2 5” Machine screws
10-32 Keps nuts

#8 X 3/8” Black Torx screws

10-32 x %4” Machine screws

#10 Flat washers

#10 Star washers

Phillips and Standard screwdriver set
Wire Cutters

Wire Strippers

Wire Crimping Tool

Standard And Metric Wrench Sets

PART #
GSM33136
GSM33122
GSM30028
CM86508
GSM33118
GSM31003
GSM31034

Monitor Mounting Plate
(CM93349-800)

Rear defroster filler
(CM93604) v

Trunk release filler plate
(CM93603)

Download from Www.Somanuals.com. All Manuals Search And Download.



INSTALLATION:

A. DISASSEMBLE DASHBOARD:
1. Remove long dash trim. This is trim piece that contains trunk release and rear defroster switch.
2. Pull AM/FM radio, HVAC controls, and trunk release button.
3. Remove 7mm Hex Head Screws located above speedometer control, and below AM/FM Radio.

Note: This will ease installation of Monitor Mounting Bracket. Do not unplug HVAC controls. Lay HVAC
controls gently on floor of car.

B. INSTALLING DASH MOUNT SUPPORT BRACKETS:
1. Run power and ground for monitor to factory heater control hole
2. Run large black data cable that connects monitor to CPU, to factory heater control hole.
3. Cut long dash trim panel to 22 3/8” (removed in step A.1.). Make sure cut is smooth and even

and put back into place.

4. Remove (4) 7mm hex head sheet metal screws from dash panel.

Mount Monitor Dash Bracket using (6) #8 X 1 /2" Black sheet metal screws.

6. Mount attached clamps using (4) attached 10-32 X 2 2" machine screws and (4) 10-32 Keps
nuts.

7. Support the main part of plate w/ sheet metal screws prior to mounting the clamps. Be sure that
these screws are flush to dashboard.

b

Note: Pull cables through bottom hole in Monitor dash bracket.

8. Position trunk release filler plate (CM93603) behind Monitor dash bracket where trunk release
hole is located.
9. Push trunk release switch through hole.

Note: Make sure trunk release catches filler plate.
10. Plug in trunk release wires: On 1997-1999 model years attach Rear Defroster filler plate
(CM93604) w/ (2) #8 X 3/8” Black Torx Screws. On year 2000 and newer mount the rear

defroster switch and connect wire plug.

11. Mount monitor to Monitor Mounting Plate (CM93349-800) using Motorola Monitor hardware
(6) 4mm-0.7x6mm Metric machine screws. Set monitor aside for now.

12. Plug in power cable and Data cable. Mount monitor to dash bracket w/ (4) 10-32 x 2 Machine
screws, (4) #10 flat washers, and (4) #10 star washers.

Consolidator® » Kwik-Raze® » Collins Dynamics® » Kwik-Kit™ PrisonerTransports * K-9Transports

75 Jacksonville Rd « P.O. Box 2099 « Warminster, PA 18974 « 800.524.9900 / 215.957.0720(P) « 215.957.0729 (F)

www.Havis.com
C-3330-800-INST-9-05

Download from Www.Somanuals.com. All Manuals Search And Download.



Free Manuals Download Website
http://myh66.com
http://usermanuals.us

http://www.somanuals.com

http://www.4manuals.cc

http://www.manual-lib.com

http://www.404manual.com

http://www.luxmanual.com

http://aubethermostatmanual.com

Golf course search by state

http://golfingnear.com

Email search by domain

http://emailbydomain.com

Auto manuals search

http://auto.somanuals.com

TV manuals search

http://tv.somanuals.com



http://myh66.com/
http://usermanuals.us/
http://www.somanuals.com/
http://www.4manuals.cc/
http://www.manual-lib.com/
http://www.404manual.com/
http://www.luxmanual.com/
http://aubethermostatmanual.com/
http://www.golfingnear.com/
http://emailbydomain.com/
http://auto.somanuals.com/
http://tv.somanuals.com/

